Colubions.

Math 118 Calculus I Test 1
This is a closed-book, closed-notes, no-calculators test. There are 60 points possible. Fractions and square
roots in answers are fine, but decimal answers are not needed (or appropriate) for any of the questions. Use
scratch paper if you like, but any work that you want graded should be written legibly on this test.

(1 pt) When you are finished, sign below to indicate your pledge. If your signature is difficult to read, please print
your name as well.

I pledge that I have not given, received, or tolerated others use of unauthorized aid in completing this work.

(6 pt) la. Find the slope of the line passing through (6, -3) and (19, 2).
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b. Write an equation for a line with slope %, passing through the point (5, —12).
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(6 pt) 2. Let f be the function defined by f(z) = 222 — .
a. Compute the net change in f over the interval [2, 4].
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b. Compute the average rate of change in f over the interval (2, 4].
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(9 pt) 3. Solve to find all values of x that satisfy the equation.
Give exact answers, not decimal approximations.

a. 2(z+5)—-7=3(z—-2)
L%+ = 3x-G
q=x

b, 210 — 229 =0 xqcx_z) =0
c. 8z =5+ 22 Z¥1—8X+g =S
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(12 pt) 4. Consider the graph of the function f shown above. Assume that f(z) is a polynomial of degree
three. Answer the following questions:

a. How many real zeros does f have? j__

b. How many turning points does f have? Z_

@What is the net change in f over the interval [-2,0]?

2-5 = -3
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d. What is the average rate of change in f over the interval [—2,0]? Z -5 -3
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@Another function g is defined by g(z) = f(z) — 3. How many real zeros does g have? 3
The graph L qlrd (s Wwe Mie Qg
A Y cutted douwm 3 unitg

f. Is it possible to determine the sign (positive or negative) of the leading coefficient of f(x)?

Explain briefly: )/__c__S_L W be \SOS(\“‘VL F&P P ‘o asc '\Z)"('\'\.C_ (\%\'\\

(4 pt) 5. True/False I (These questions refer to the function f in the graph above)
Scoring: 3 correct = 4pt, 2 correct = 2pt; otherwise, Opt.
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(9 pt) 6. Function h is defined by h(z) = 5z — 222,

a. Evaluate h (x + 4). Simplify the result by expanding a power and then combining like terms.

law: W) = s(e=) -z (1) =
so W(x+u) = S (x+q) -7 (x+4)?
= Sx +r20 -7 (x¥+&x +\g)

= ~Ix®—\x —\¢

b. Write an equation for the secant line which meets the graph of h at x = —1 and x = 2,
. wWC-» =-1 , so ?G‘W\\'S" . -\, -#) - slo opc: - =
e W(2) =2 T (7, 2) 2 -0
\iu\c: y -7 = 3 (X'-?.)
ce Y+ 7 = 3(x*) )
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(6 pt) 7. Give an example of a function with the given properties.
(Give a simple formula in terms of x, such as 2 + 1 or (2z + 3)* or whatever.)

a. A function which has the same average rate of change over every interval.
C 8 omy lueac Fowe Mew v Wvelunding consrant
Gr CX: Q(K) = * =

Quuc_\icms \&e FxN =6
b. A polynomial which rises to the left, falls to the right, and has x = 2 as a zero.

3 odd degree,
‘:6“ <X, F(") = -X*¥2 or -X *+8 V\%u\:%c_ \aadivxﬁ ccebC.
¢. A function which is decreasing over every interval. ' awd X=2 (8 o Zeo.
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(4 pt) 8. Simplify (by canceling a common factor).

£ — 4t = (e = E-d
v'tﬁ + 8t LEALS+8) LS+ 8
@x:__fc = x% Caty | stwmply XS

(4 pt) 9. True/False IT
Scoring: 3 correct = 4pt, 2 correct = 2pt; otherwise, Opt.

_T; Zz Zen
a. Every polynomial has at least one real zero. %P <X, X “ has wo 5.
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E b. Every polynomial of odd degree has at least one turning point. gor ex., x> Was uoue.

f @A polynomial of even degree must have an even number of zeros.
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